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goooo g od
b 18040240

1 0OOod

O0000000,000000000000 Consensus Problem 00000000000 [1) 0 Mutual Synchro-
nization 00 0O0000. OO, 00 [1] O Mutual Synchronization 0 0000000000 [1]000000O0O0O
00000000000 0ooOU00oO0oOo0oooO 20000000, 000,00 [1] O Mutual Synchronization
gobogood.

2 Jooooobobuouooooon

0000,00000 Paden, Panja 000000000000 (Passivity-based) 00000000000 (Robot
Manipurator) 000 [2] 00 0000O0O.

2.1 0O0O0OO
00000000,n000 (n Degree of Free, n-DOF) 000000000000 OO (Robot Manipurator)
0000.00000000000 (Robot Manipurator) 000000 (Dymanics) 00000000 [3)].

M(q)i+C(q;¢9)g+9(q) = 7 (1)

000,¢qeR* 00000 (Joint Coordinate) , 7 € R* 00O OO0 (Torques) , M(g) e R*™*» 00000
(Positive Definite Inertia Matrix), C(q,¢) € R®*" 00000000000 (Coriolis and Centrifugal Forces),
g(q) e R* 0000 (Gravity Forces) 00O .

00000000000 (Robot Manipurator) (1) 0000, 0000000.

e J0ODO M(q) DDOOO (Positive Definite Matrix) 0 O O .
e M(q)—2C(q,¢) 0 DOOD (Skew-Symmetric) 000 .

e 0000 (Passivity Property): 00 0000 ¢U0OO0000O0OOOO,000 (2)0000000 8>0
gobgoooood.

T
| ioreds = 5T =0 e
0
0000000000000 SOo000000 (Skew Symmetric matrix) 000 .
S+8T =0 (3)

2.2 0O0O0O0O
000000000000000000000 (00)¢000000000000 (00)¢t)000000
00.000,0000 (Desired Trajectory) 000, 000000,0000 qut), ¢o(t) 0000,

q = d4a
q = 4qa (4)

gobogooad.



2.3 0000 (Tracking Control)

O000O0oon (Frror)e, ¢, ¢ 000000000000 0O0O0O0OO0O0O0O0OOOOOOOOOOOOO
go.

€ qd— 44
q—qa
4 — qa (5)

é

> 1> >

P
0000000 (New Control Input) 0 » 000, 000000 (Controller) r 000D O0O0OOODODO.
T = M(q)js+C(q,4)da +9(q) — Kpe +v (6)

000,K, 0000000000 (Gain)0OO.
O000,0000000 (New Control Input) v 00 O00D0DOODO.

v = —Kyé (7)

000,K, 0000000000 (Gain)OODO.
000000 r(6) 000000 v(7)OD0OODODOOOODOOOOODO.

T = M(q)ia+ C(q,4)da+ g9(q) — Kaé — Kpe (8)

000,00000000000 (1),0000007(6),0000000v (0000 0OOOOOOOO
O (Closed-loop System) DO O O0OO0ODOO.

M(q)é = —C(g,9)¢ — Kaé — Kpe (9)
00 00000000000 (Robot Manipurator) (1), 000000 (Controller) (8) 0000000 OD

00000 (Closed-loop System) (9) 0D OODOO0O. 00,000 K,, K,O0OOOOODOODOOO (Assumption
K, >0,Kg>0),00 (Error) e, ¢00000 (Asymptotically Stable) 00D .

g
00000000000 (1)U0O0O000o (6) 000000000 Subsystem 0000 O0O0OOODO.

M(q)é+ C(g,)é + Kpe = v (10)
000,00000000 Subsystem 1,2000.

M(aé N
Subsystem 1 : { (@é+Clg: ) = wm

Yy = é = U
Subsystem 2 : T (12)
yo = Kpz = v—1uy

Subsystem 1, 2 (11), (12) 00000000000 Fig. 1,2000000, Subsystem 1,2000000000
Subsystem (10) O Fig. 30 00000.
000, Subsystem 1 00000000000 (Energy Function) V; 00O

Vi(e) = 5e"M(q) (13)

O000. 00, Subsystem 200000000000 (Energy Function) Vo, 00O

Vale) = %ere (14)
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Fig.3: Subsystem 000000
Fig.2: Subsystem 2 000000

0000.000,0000000 V,1,00000¢00000000000000, M(g)>0,K,>00
0,0000 (Positive Function) 0000000000 O0O.
0000000 (Energy Function) Vq, Vo (13), (14) OO O0OO (time derivative) 00 00O

Vi) = % (é'TM(q)é +éTN(g)é + éTM(q)é)

1 .
= ¢"M(q)é + §éTM(q)é
1 .
= ¢"M(9M(q)™" (=Clg, 9)é +u) + 5¢" M(g)é
" Subsystem 1 (11) 00O
é¢=M(q)~" (—Cl(q,4)é + u)
= —T'C(q, ¢)é +eTuy + %éTM(q)é

— Tur + %éT (M(q) —20(q, q)) é

= éTU1
00000 (Skew — Symmetric) O O
¢ (Mlg) —20(q.0) ) ¢ = 0
= ylwm (15)

: 1
Voe) = §(éTer+eTKpé)
= el'Kye
= (Kpe)Te

= yaup (16)
000,0000 Subsystem 1,2 000 « 000 y00000000O000O0.O000,0000000 (Energy
Function) V; 00 000 (Time Derivative) 000 000 (Skew-Symmetric) 00 00 00O Subsystem 1 0O

Uw 000y, O0oooo.
000, Subsystem 1,2 0000000 « 000 yOD0OO0OCOOODO

T
<u,yr > = /y?(s)m(s)ds
0
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= ‘/2(6

> —Va(e(0)) & —p, (18)

000, Subsystem 1,2 000000000000 « 0000 yOOOO (Fig. 1000000 (Input) ug, O
O (Output) y1, Fig. 2000000 (Input) ug, 00O (Output) y2) , 000 (Passive) D0OD000D00ODOOO.
Subsystem 1, 2 (11), (12) DO 0000000 Subsystem (10) 000000000000 VvOODOOOOOO
ggd.

Vie,e) = Vi(é)+ Val(e)

1 1
= 5éTM(q)e + Sekpe (19)

000,0000000 WV, 1,2(13),(14) 000000000 (Positive Function) 00000 00O, Subsystem
(10) 000000000000 VOoOoooo (Positive Function) 000 0O0000OO.

0000000 V(19 00000 (Time Derivative) 00000000 V3, Vo, 00000 (time derivative)
(15), (16) O O,

Viee) = Vi(é)+ Vale)
= yiui+y3us (20)

000,000 Subsystem 1,2 000 (Interconnection) y; = ug, yo =v —ug 00,

Vie,e) = Vi(e)+Vale)
= ylu+v-—uw)'n
= yiv
= év (21)

OO00,00v000Cée00000000ODODOO0O.O00,Subsystem 000 v OO0 eOdO0O0O

T
<v,e> = /OéT(s)V(s)ds

t

I
<

; V(e(s), é(s))ds
(e(t), é(t)) — V(e(t), €(0))
=V {(e(0), €(0))
—Vi1(€(0)) — Va(e(0))
B —f £ - (22)

v

000,00 »0000 ¢é0000 Subsystem 0000 (Passive) 00000000 O. O00O0O,0000000
00000 (1) 0000000 7 (6) 000000000 Subsystem (Fig. 3) 0000 (Passive) 00 0.
000, Subsystem (10) 00000000 » (7)00000000000000 (Closed-loop System) (9) O
gobd,Fig. 4000000.
0000000 (Lyapunov Function) 00000, Subsystem 00000000 V (19) 0000. 00000
00 V(19 00000 (Time Derivative) 0 (21) 00O,

Vie,e) = év (23)
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Fig4: 00O O00OO0OOODOODO

000,0000000 v (r)ODOOOOO,

Vie,e) = é(—Kgé)
= —éKye
< 0 (24)

000, 000 (Negative semi-definite) 000. 00000, 0000000000 (LaSalle's Invariant
Principle) 000000000, 00 (Error) e, ¢ 00000 (Asymptotically Stable) 000 0. 00O, O
O (Error) 00O B)00,g—qa¢—qgat—o0o 0000,

000,000000000000 (LaSalle's Invariant Principle) 00000000 (Asymptotically Stable)
ggodobobobob,0oooooboboboa.

3 Synchronization
00,0000000000000000 Mutual Synchronization 0000000 .
000000000000 Mutual Synchronization 0 000000 Fig. 600000000, Fig. 6 0000

00000000040000000.00,Fig 6000000004000000000000000000

000000000 Fig. 5000. ¢, ¢, Gi,i=1,...,40 Robot4,i=1,...,400000,000,0000

000000, qq de, s 00000000000000000000000000,000,000000000

0.Fig. 720000000000000000000000000000000000000000,0000

0000000000000000,000,0000¢,¢¢00000000000000. 00000000

0, Mutual Sychronization 000 0000000, 00000000,000000000000000000,

00O000000000000.000,

= =dp =g
G1=-""=4qp=4qa (25)

00000000.0000000000000000 pO00000, Mutual Synchronization 0 000000 O
0000000000000, i=1,...,p0000000000.

4 0OO00000

00000000, p 00 n (nDegree of Free, -DOF) 0000000000000 OOOO (Robot Manipu-
rator) 000, 00000000000 (Robot Manipurator) 000000000000 . 000000000
00000 (Robot Manipurator) 0000000 (Dymanics) D000O0O0O0O0O.

M;(q:)di + Ci(giy di)di + 9i(qs) = 7w, i=1,...,4 (26)

000,¢eR*00000 (Joint Coordinate) , , € R* 000000 (Torques) , M;(¢g;) e R*»>*™ 00000
(Positive Definite Inertia Matrix) , C;(¢;, ¢;) € R®»** 00000000000 (Coriolis and Centrifugal Forces)
,9i(g;) eR* 0000 (Gravity Forces) DO 0.



Robot 1 Robot 2

Robot 4 Robot 3

Fig.5: Robot O Mutual Synchronization 0 O O O

dog2100o0ooo0.

000000000000000 (Robot Manipurator) (26) 0000000000 (Common Desired Trajec-
tory) 000,000000000,0000 ¢, ¢e000.

i00000000000000 (4 th Robot Manipurator) 000000000 (Reference Signal) g, Gri, Gri
goobooooooog.

P

ga— Y. Kijlai—q)

(1>

qri

=L
P
Gri 2 qa— Y Kij(di—dy)
=L
P
Gri = Ga— Z Ki (i — d;) (27)
J=1#i

000,000 K,; eR™™ 00000000 (Positive Semi-dfinite Diagonal Matrix) D0 0. 0000000
000000 (Reference Signal) (27) 0O 0O [?] 0 Coupling Error 000000, 00 [1)0000000O00O
gooono.

000, (270000000 (Reference Signal) ¢, 0000000 00. 0000000 2004+000000
00000000 (¢ th Robot Manipurator) 00000 ¢ 0000000000000 0O0O0OO (5 th Robot
Manipurator) (j =1,...,p, j#i) 00000 00000000 K,; 0000000, 0000000000
00O Coupling Error 00 0O, Synchronization 0000000000 (Lemma) 00O0O000O. OO0, (27) O
O00,:000000000000000D0COO00DODO0O0DODO ¢ 0000000000 g¢ O Coupling Error
ggoooobooboooo.

¢ 00000000000000 (¢ th Robot Manipurator ) 0 O 0O O Synchronization Error s;, $; 0000
gogooooo.

(1>

Sq qi — Q4ri



Desired Trajectory

Robot 2

Robot 1

Robot 3

Robot 4
Fig.6: Robot O Mutual Synchronization 0 0 0 O

(28)

(1>

8 Gi — Qri

Synchronization Error s;, $; 00000, 000 ¢, ¢ 000000000, 000000000 (Reference

Signal) ¢4, ¢ D0 00000000 OODO.
(0000000000000 00000,0000000 (New Control Input) O v, 000000000
(29)

(Controller) , DOODOUODOODOO.
i = Mi(qi)dri + Ci(qir 4i)dri + 9i(q:) — Kpisi + v

000,K,; 0000000000000,
000,i000000000000000000,0000000 (New Control Input) », 00000000
(30)

go.
vi = —Ka;$

Oo0,Kg; 0o000000000000.



i 000000000000000000,000000 (2900000000 v (30)00000000O0
googa.

i = Mi(qi)Gri + Ci(qis 4i)dri + 9i(ai) — Kaisi — Kpisi (31)

000,:00000000000000 (26)0000000000000 71(29),0000000 »; (30)0
0000000000000 (Clesed-loop System) 000 OO0OOOO.

Mi(¢:))8; = —Ci(¢i,¢i)$i — Kaisi —Kpisi, i=1,...,p (32)

00 10000000000 (26), 000000 (81), 00000 (27)00000000000000 (%2)
Oooooo00. 00,000 Kgg Kpy, t=1,...,p 0000000000, Synchronization Error s;, $;,
i=1,...,p000000000000.

o000 (34) 0oooooo (27) O Coupling Matrix K, 4,7 = 1,...,p 000000 00O Diagonally
Dominant Matrix M.(K; ;) € RC»»>*(») 000000,0000, M.(K,;;) 0000000000000000
000 Coupling Matrix DO OOODOOO.

o0 M(K,;) 000000000000 K,y,4,5=1,...,p000000000.000,00000000
0o0 K;j,4j=1,...,p0000

q1 qd q1 qd
M(Kij) | & | =] < = (33)
dp qd qp qd
gooooo.
_ , i
In+ > Ki; —Ki2 e —Ki,p
J=15#1
p
—Ka, I+ > Kaj) - —Ka,
M.(K; ;) = J=1,j#2 (34)
p
_KPJ _Kp72 T Iy + Z Kp,j
L j=1j#p |

000000000000000, Synchronization Error 00000 s; — 0,8 —0,t—0(i=1,...,p) O
Synchronization ¢; 0 00000000000 . OO0O0O0O0OODOOODOOODOODO. 0OODoO0oOOooOoOOooOoon
oooo.

5 ooy

o00oooo0,0000000000000D00O0O0DO00O0OD (2000000, 00 [1] O Mutual
Synchronization 0 00 O00OO.

oo, 0ogoobbooooo, bbb oooo,bboooobobo. oo, buoooo
gooooooooooon.
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